Introduction to Arithmetic Sequences
Unit 6: Representations of Linear Relations

Determine if the sequence is arithmetic. If it is, find the common difference.

1. —15, 85,185, 285, ... 2.27,30,33,36, ..
§Ss -(-15)= |00 30~ (27)=3
1$s ~(§s) = leo 33~ (30)2 3
285~ (185) = oo 36-(33)=3

//I//'H\me#/c_ UI = /00 A/"ILAVHC'LIL 0’:}
3.2,4,12,48, ... 4.-28,—31,—34,—37, ..
y-@Q) = 2 =31~ (-2%) > -3
Ia-(4) = § -3y - (- =3
Y- (12) = 36 ~31-(-3%)="3

N0+ Ar(H\meL‘c A/‘(‘H\m{;ﬁ(‘, gl ==y

5.37,44,51,58, ... 6. 6,106,206, 306, ... |
Wy~ (37)= 7 lo¢ —(¢) = 100
Sl~(yq) = 7 26¢ = (10¢) = 00
S$-(51) = 7 306 - (200) = oo

/Jf’»M\WH’,‘LI( cl =7 A /‘[?Lt\m-é'/‘/‘c 0{ = /00
7.30,37,44,51, .. 8.—4,—7,—10,—13, ...
37 -(30)= 1 -7 -(-uy > -3
by - (31) = 1 ~lg-(~1)= -3
S~ (y4)= 7 i <

/)rf/H\me‘L/L ol = 7 A/\"}’Ame#/t J - ,_3
9.-2,—4,—12,—48, .. 10. —22,—31, —40, —49, ...
Y-z -2 =31-(~22)= -9
~17 - (-4) = -3 “Yp- (-3 "
~yg - (-12)= -3¢ ~ 45 - (~40) = 71

/\)0+ A‘f{ //l\mg-L,'c A/\f%[\l’hélf(_ d: ’-OI




11.18,—182,—-382,—-582, ...
-lg2-(18) = -Aoo
-3%2 ~ (~1%2) = =260
-gp2 - (-382) = -2

d = =260

12, -24,-26,—-28,-30, ...

A~ (-au) = -}
-2§ - (-26) = -3
-30 ~ (-2%) = -2

Aeithmebic Drithmeke  d=2
13. 2,26,266, 2666, ... 14. 15, 24,33,42, ...
A — (2) = 24 A9 - (i) = 9
466 — (a6) > Yo 33 - (a4) = 1
2666 — (266) = 2400 ya - (33) = 9 _
Nt /7“"‘#‘”‘@7[’6 ﬂ[/\l"[’[qmej\;;c Ol‘: 6? :
15.-37,—-42,—47,-52, ... 16.—31,-37,—43,—-49, ...
-y -(-37)= -S 37~ (=31) = ¢
47 = (-y3) = -5 ~43 - (~37) = =6
52 -(47) = -5 -4y = (~43) >
/1/7 VL[\W\(Z‘/'/\(_ bl - —5 ﬂff(H\melec 0/ = _é
17.-13,-20,—-27,—-34, ... 18. 23,20,17, 14, ...
-6 ~(~13) = ~7 26 -~ (23) = -3
=27 - (~2) = -7 1= (282 =3
_3y = (-a7) = -7 | M- (7= <3
ANHMQWL’C ()( == AffH‘mCifC 01 =y |
19. -25,5, 35,65, ... 20. —38,—48,—58,—68, ...
§ = [-251% A0 48 - (-38) = ~Ip
35 -(s)= 30 5% ~ (-48) = ~lo
6S - (35) = 30 | 6% - (~58) = 44
Ao H/\I’YVZ'J‘TQ 0) = Jo /}Nﬂlmm[:‘c af = /o




